(1)
g;hag‘/‘ew 3 }?amaig_j_abﬁ‘ /4'7[ %0‘4 (é‘ﬂﬁfl/ﬁ*lcﬁf

(Tee C4L0of Ten).

J:a /?/?} Rﬂfmdhaqd" $’7éré¢z m[ M a.

aé/é\.ﬁz{ e%/ueﬁwd :
pLSn +4) 2o (rud 5)

rb‘/jzo-hs;):‘;o Cwmoed 7)

VZ’ ad m20.

ﬂ alea /anj'er‘/wtoz ﬁ‘tf M 8= 54;_ ?Bor ”c
ad 2025/ med8). T

p/Jh-;/’)) = o (md ).

770/5’«/)/‘& oowecf (o reafq. gl 57 CW"’(/?%)

b'h(//J_J
o[ Pntd) S0 pmet F )

whoe 240 = ! [rool P7)
/?amaavlm's /‘m/ft%we uA4s */AM%Z 4: IZ/O{‘M //f)’cf’)

£ ,fs' 7’; and_foo d= Ity e 7).

/\U;\@A@/

Pl [1%5)  pud

4 53 3m 4 1/247) 20 [med/3),
1[23 /7n £ .2(23) =0 L/mag{/f)

/fb/lylro /ﬁﬂ revrell
P/’?) = ['m“e J é— do[ruzéd/ /"'1447 v

4( p,[»/-_/ /uqd%) %, /—-/,.,/44 nm—/ 4%
/7 ) 4 J




